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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Below is a statement followed by two
conclusions. Read the statement and
conclusions and determine which
conclusion(s) logically follow(s) the statement
given.

Statement:

For late return of books by readers, a library
charges penalty of T 10 per day for the
number of days of delay beyond the due
date.

Conclusions:

)  Penalty for costlier books will be
higher.

II) Penalty for lighter books will be lesser.

(A) Only conclusion | follows

(B) Only conclusion Il follows

(C) Either conclusion I or Il follows
(D) Meither conclusion [ nor 11 follows

Choose an option that is a valid assumption
for the below statement.

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacations.

(A) During vacations, kids love to travel by
trains instead of acro planes.

(B) Passenger traffic in trains significantly
increases during vacations,

(C) Peopleneed change and like to see new
trains during vacations.

(D) Engine drivers like to work for more
hours during vacations.
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Read the statement below and two courses
ofaction given. Choose which course(s) of
action need(s) 1o be taken with regard o the
statement given.

Statement:
Despite having a standard work timing of 10

am to 6 pm, there has been more number of

cases of employees reporting late for work,

which affects the work flow in the factory.

Courses of Action:

I. Theemployees mustbe givena
waming and strict disciplinary action
must be initiated if no improvement is
found.

II. Thework timing must be made flexible
s0 that everyone is able to come as

per his or her own convenient time.

(A) OnlyAction | needs to be taken
(B) Only Action Il needs to be taken
(C) Either Action l or Action Il needs to
be taken

Neither Action | nor Action Il needs to

be taken

(D)

If Puzzle :: Solve, then Essay :: ?. ldentify
what can come in place of 7",

{A) Resolve

(B) Dictate

(C) Recite

(D) Write

Q3
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(A) B

B) feraar

(C) rgame
(D) ferg=n
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Select the option that is related to the third
term in the same way as second term is

related to the first term.

Temperature : Thermometer :: Humidity ; ?
(A) Spectrometer
{B) Seismometer
(C) Hygrometer
(D) Osmometer

In a certain coded language. if “*LITMUS"
15 written as “SMIUTL" angd “INDIGO" is
written as “OINGDI™, then how is the word
*JAGGER' would be written in that
language?

(A) RGAEGI]

(B) RGJEGA

(C) RGAGEI]

(D) RGIEAG

In a certain coded language, if ‘“TABLE' is
written as *VEDNI" and *CHAIR’ is written
as "EJEOT’, then how is the word
*BENCH" would be written in that
language?

(A) DIPF)

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

If P@Q means P is the husband of Q; JAL
means L is the son of J; and N$M means N
is the brother of M, then which of the below
options definitely states that B is the mother
of A?

(A) ASBSC@D

(B) CSD@mA#B

(C) BSCFA@D

(D) D@B#CSA

fny

TADEET 54

Q5

Qb

Q7

Q38

9 fwey &1 gua & o Fre o 9
I e W wan # e ave @ guw
e B v A e §)

ATH - wRpleY o arrdar : ?
(A) Wage

(B) Wwiiee

(C) ETEUTfeR

(D) aiferiies

Us He W H gl “LITMUS™ &)
“SMIUTL" forar wiren & e “INDIGO™
H1 “OINGDI™ fen wmar 8, &) o @
wEl § W JAGGER® & @9 foran
ST

(A) RGAEG)

(B) RGIEGA

(C) RGAGEJ

(D) RGIEAG

U o W A AR “TABLE® @1 *VEDNI'
feran @ren @ @en *CHAIR® &1 ‘EJEOT’
fora e & & oW 3 wm A CBENCH®
& &9 foran amem?

(A) DIPF)

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

ot P@Q & el @ & Q &1 ufty P&
J#L @1 3 @ % J @1 g3 L &; ot NSM
1 o & i M &g N &, o Prferfam
AR an W e gl s & &
A® H BR?

(A) A#BSCaD

(B) CSD@A#B

(C) BSCEA@D

(D) D@B#CSA
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Given below are four statements followed by
Identify which
conclusion(s) definitely follow(s) the given
four statements disregarding the commonly
known facts.

four conclusions.

Statements:

1. Alldogs are cats

2. Some cats are tigers
3. Alltigersare lions

4. Nolionisadonkey

Conclusions:

) Some catsaredogs

) Alllions are tigers

llI) Some donkeys are tigers
IV) Notigeris adonkey

(A) Only conclusion I follows

(B) Only conclusions Il and IV follow
(C) Only conclusions Il and I follow
(D) Onlyconclusions | and IV follow

If the below alphabets are formed as per the
ascending order of their appearance in the
standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4% 6™ 9" and 16"
position from left?

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME

520754

Q9

Q10

Frfafea 4 an sws sl 998 @
or Preed Ry o € ffta =8 5 &=
/¥ e i g st @ fifteo
T A IeRe wwen B/ v & 2
g w9 8 g aedf 4 et

HYU:
1. w0 o ffeear #
2. oo fafeeal am &
3. i 9 IR #

4. 1IN M A6 B
s

) %o ffte o 2
m &t 9w am
Iy = ™ T #
IV) &8 ame e sl 8

(A) daer fepd | e dvar @

B) @aa Fresd 11130 1V apeer o
&

(C) @ae fresd 113w 111 3FpeRor &
@

(D) @ae Frend |3k [V aERw &
g

afy Pr=fefea sert & a9e oview @
FTER ARE HH § @ g, o an
A gga, @), B8, 7 ol Wewd wE
are e | P wr refgef feh e
ffifa & wamr &7

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
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Q11 Studythe below seriesand identify whatcan Q11 Fr=ifesfan saen =1 v& s s &8 M
come in the place of “7", e (*7) @ WM W IH 6 19
T |
GAS27, IEU35, MIY47, OMA29,
SOE39, USI49, ?

GAS27, IEU3S, MIY47, OMA29, SOE39,

(A) WUMS? LSI49, 7
(B) WWO61 (A) WUMS7
(C) YUMS9 (B) WWO61
(D) YWNG62 (C) YUMS9
(D) YWN62

Q12 Study the below series and identify what can
come in the place of “7".

Q12 Ffafln sae o1 v afv o =¥
TEE (“7) @ ™M W 19 @ Ham
&g il

3947, 4379, 7493, 9734, 7

(A) 9437 3947, 4379, 7493, 9734, 2
B) 7934 (A) 9437
(C) 4793 (B) 7934
(D) 3947 (C) 4793
(D) 3947

|.|I1

Q13  Ifthe symbols “+"* and “~" are interchanged, *ﬂ Q13 uft Fe=ferfas afiew & «4+ aflw «

“x" and “+" are interchanged, and also the
digits “3" and “7" are interchanged, then
what will be the value of the below eguation?

83 x7-719+63+7
(A) =133

(B) -350

(C) 244

(D) 511

& H-gee § 7Ed I o, <x” el
“+" B U ¥ 759 Ra @y, aen
@1 “3” 3 “7" @ R tE-gW 9 A
frar e o =i R o wfewer @ e
a1 g

B3Ix7-79+63+7
(A) - 133

B) —350

(C) 244

D) 511
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I'he ages of husband, wife and their son are

inthe ratioof 10:9: 3. To calculate the age

of the son, which of the below pieces of

information is additionally required and

sufficient?

(A) Before 6 years, the age of the son was
20% the age of his mother then

(B) After |0 vears, the sum of the ages of

all three will be 30 more than the sum

of their present ages.

(C) Thedifference between the age of

father and son i< more than the

difference between the age of mother

and son,

(D) The sum of the ages of all the three isa

perfectmultipleof 11,

The perimeter of a rectangular ground with

comers A, B, C & D is 28 metre. To

calculate the area of the ground, which of

the below pieces of information is additionally

required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD.

(B) Thesum ofthe diagonals is 8 metre less
than the perimeter of the rectangle.

(C) The perimeter of the rectangle is greater
than 50% of the area of the rectangle.

(D) The sum of all the intemal angles of the

rectangle is 360°,

T

TH

Q14

Q15

ofet, eht 3R @ g3 A 1y F I

10:9:381 T= | Y il O I B

forg, F=fefaa 4 | |on @ 5w aim

&l JfaReT w9 |4 amawasa @f o

g A g

(A) 694 g4, T3 3 Y IH GHY THH
Hi @ g B 20% M|

(B) 1034 arz, f=f & g @1 Gy,

I T Y @ I | 30 siftre

BT |

(C) foan afiw g= & wey 3y @1 siae, o
3R g3 & 7 g B e 9 afde
Al

(D) AT @t 3 A 11 @1 gt aqur
el

A, B, Calw D@ ard amgemer g

@1 gRAg 28 Mew 8 | A @ dEwd

o @ @ fag, Prafefea 4 9 wan

& fooe 3w &1 afaRar wv | smaaed

grf ot wate o g

(A) Raet AC T dar aaht & P
vt BD &t dard &)

(B) 3mua & Al &1 9 aaa &
uiam @ 8 fiee v )

(C) 3maa =1 UiRAmY, g0 & Sa%d 4
50% 3iferE B

(D) e & Wit sfafls Sl & 2
360° B 1
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We need to find the value of *a’ from the
below two equations, if both a and b are

positive integers.

) 2a+b=22
2) 3a-2b=12

Now, read the below options and select the

one that applies.

(A) Only Equation 1 is sufficient to derive
the value of *a’.

(B) Only Equation 2 is sufficient to derive
the value of *a’.

(C) Neither equations 1 or 2 alone are
sufficient, but both together are required
to derive the value of ‘a’.

(D) The value of *a’ cannot be derived by
any individual equation or even by both

equations combined.

If in a coded language ‘PEASANT’ is
written as ‘RQYVYHN', how will
‘RANCHER’ be written in the same
language?

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

Qleé

Q17

af% a 3w b SF g=THE UNie € @1
Fr=ifeftan wiewot @ 84 ' @& "9
T HeA B

1) 2a+b=22
2} 3a-2b=12

ard, Frfefigd fdeey od iR 99 | &
W fadey T 8 EH TyA D |

(A) ‘a’ I 79 WA AR @ o0 S
witeTr | garg #)

(B) ‘a’ &I AF FW w5 g dad
aftavor 2 gt &)

(C) ‘& &1 9 91 a2 & fow 7 at
FHer Ty | vl § s A @
HET T 2 Al 8, a¥g 7l
Y A WEYEE E |

(D) ‘a’ &1 A7 el § ve we |/
w8l s 5 o e 8, g8 @
fs <t wirvolt | wgad w7 @M
& s frar i wewar #1

U@ @ "M H afe ‘PEASANT' @
‘RQYVYHN' foren orar 8, ot 99 &2
WY % ‘RANCHER’ @1 &1 fergn wmgam?
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP
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Study the given table carefully to answer the
question that follows.

Sale (in crores) of no. of units by four

companies (cos.) over the years (yrs).

Co.\yr| 2015 | 2016 | 2017 |2018
A | 1158 ] 857 | 589 |46.6
B |150.1 ] 763 | 37.2 |39
c |933 ]| 695 | 53.7 |489 |
D [1806] 111.1] 21.2 |334 |

Which company has sold the maximum num-
ber of units over the years?

(A) A

B) B

(€) C

(D) D

If P+Q impliesP-Q
P-Q impliesP xQ
P = Qimplies P +Q
P+Qimplies P+ Q)

Which of the following is TRUE?
(A) 1+2-6x%x3+8=8
B) 6+2-3x1+4=12
(C) 25+6-45x9+23=18
M) 10+4-3x]+2=35

Find the odd one out of the below geometrical
shapes.

Rhombus, Triangle, Square, Parallelogram,
Rectangle, Trapezium

(A) Rhombus
(B) Trangle

(C) Parallelogram
(D) Trapezium

10

AEEEEG L

QI8

Q19

Q20

fy=faftes aifte & iR 9 ud afiw
IuS 915 f3¢ U uE & Iw « |

UR Fafal g e ©p ol 4 &
afvew 7 RE (@ )

®./94] 2015 | 2016 | 2017 [2018 |
A | 1158 85.7 | 589 |46.6
B |1501] 763 | 37.2 |39.1
c | 933 | 69.5 | 537 | 489
D | 180.6 | 111.1 | 21.2 | 334

frew oo o # fw S A Afesa
we | gfews & A @87

(A) A

(B) B

(©) C

®) D

ot p+Q m At BP-Q,
P-QaT aef 8P xQ,
PxQararef P +Q,
P+Q@r aef & P+Q,

Prfafaa o @ @99 w1 Feus o 87
(A) 142-6%3+8=8

(B) 6+2-3x1+4=12

(C) 25+6-45x9+23=18

(D) 10+44-3x1+2=5

fr=fafen wnfiefin argfoat 4 & fr=
JFiT B gEAE Dt |

wrag, Prge, @, weiey s, s,
A ggHa

(A) FTET

®) P

(C) wHiaY agy
(D) T
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Find the odd one out from the below group
of names.

Guava, Watermelon, Lettuce, Apple, Kiwi,
Mango, Pear, Pomegranate

(A) Lettuce

(B) Kiwi

(C) Pear

(D) Pomegranate

Study the below diagram and identify the
option that is NOT correct.

(A) Some lions are not goats
(B) Some goats are lions
(C) Lions are not singers
(D) Some goats can sing

11

Q21

Q22

BT LES)

Frefafa am wEt 4 9 swmg @
ygHE o |

HG, TG, TeAle—UsT, He, FA), AW,
AT, 3N

(A) Terg—awr
(B) @i

(C) =meruret
(D) IR

fFr=fefaa ana &1 smggs o1 allk 99
e & 997 & & 9 T8 8

LLTif

(A) TP ¥ gHRal 98 &
(B) %w salai ¥ &
(C) I} TS T8 &
(D) ®© THRal T HFA 8
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Two positions of a dice are shown as below.
Ifthe number 6 is exactly opposite to number
4, then which number is exactly opposite to
number 37

(A) 1
(B) 2
(C) 5
(D) 6

Deepak left his home and walked 4 km
towards cast, then turned left and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
east, then turned left and walked B km to
reach her college. What is the shortest
distance between the office and the college?
(A) 10km
(B) 13km
(C) 17km
(D) 18km

BRCEOEr]

Q23 F=fefaa 4 v o9 &t =1 Refaa

wefifa @ n¢ &) aft wen 4 99 wEd
@ faege Ruda 6 8 o W 3 9
et & fAemel faudia o o we 87

(A) 1
(B) 2
(C) §
(D) 6

#ius v @ & o0 3 W @
et 4 km 38 @ 3 wea 8, o
¢ 98 &Y 3 km T #| WG qEA
e Ffew o @ fag o w9
fAmedY 16 km qyd @1 AW deld €, o)
fihy ad q@ @¢ 8§ km wEA 8 | 3ffw
3 Pieta & ma +gean g e 27
(A) 10km \

(B) 13km

(C) 17km

(D) 18km
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(25 Ifthe pentagon shown below is rotated anti- Q25 uft F=fafaa A vefie deya & a8

clockwise 270° three times, the rhombus is #l g3 # RAuda Rm 4 &7 aw 270°
rotated clockwise 45° four times, and the gam o 8, wegda v @ g
mirror image of theé alphabet is used, then femm & wm aw 45° I SR 8 afw
what is the resulting figure? 3R @ advr widfdm soat far o 2,

T GRoT oY @ € avi?

(A)
(A)

(B)
(B)

(©)

(D)

8

(D)

SRONORCIE
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Q26

Q27

Q28

Q29

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathura

(B) Ayodhya

(C) Jhansi

(D) Varanasi

Which part of Uttar Pradesh is famous for
the delicately embroidered sarees called
“Chikankari sarees™7?

(A) Moradabad

(B) Lucknow

(C) Meerut

(D) Prayagraj(Allahabad)

Name the poet and saint who wrote
Ramcharitmanas, another version of the
Ramayan,

(A) Ravidas

(B) Surdas

(C) Kalidas

(D) Tulsidas

Name the South Indian King who
vanquished the forces of the Dutch East India
Company in 1741 in the battle of Colachel.
(A) VeeraPandya Kattabomman

(B) RajaRajaChola

(C) Marthanda Varma

(D) HaiderAli

18353368
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W, a8 9feE W @ e 4g A
39T TEer Suny Rar ar, 9 Aot
fore wew & aga Aurdie R &2

(A) eI

(B) e

(C) s

(D) AR

I W & B W uew e
wifgal s gav sard ar wifeaf &
for witg &7

(A) HvEER

(B) @&

(C) #we

(D) WAFRTS (§EmIs)

a5 B ¥ B aiw wa & Rl wwma
F1 U TR el Ypaitanee o
e

(A) vaem

(B) ¥Xemd

(C) mfersra

(D) g

gftym wra & w won A af 1741 A
Hiead & T8 1 89 v sfea ol
@1 uwr fear ar?

(A) dRMTSaT SEEEEA

(B) o1 I A

(C) wrive anf

(D) &= el
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Q30 Name the famous warrior begum from the Q30 3 #t Raraa 9 9 vitg o &

principality of Awadh, who fought the British @1 M T & e 1857 @ fage #
as part of the 1857 mutiny? Firat & Wy B are e A W feran
(A) Begum Hazrat Mahal ur?
(B) Begum Raziva Sultan (A) AW BN HAEA
(C) Begum Jahanara (B) T IFr e
(D) Begum Meherunnissa (C) 47" FERIM

(D) & Hgsi~a

Q31 The first emperor of the Mughal dynasty, Q31 WId 99 D UsH WHIC ;@Y A AUA

Babur, has written an autobiography in his A wmw wTend i W Sl s
native tongue of Chagatai Turkic. What is the foredt | 590 qes @0 A9 w1 87
name of this book? (A) e

(A) Mughalnama (B) a[maw=mm

(B) Babumama (C) RG>

(C) Baburmubarak (D) arafaErm

(D) Baburbihaya

Q32 When Atal Bihari Vajpayee became the Q32 1996 % wm aed s awadt o

Prime Minister for his first tenure in 1996, R WA g1 4, @ 99 gEEEAl §
what was the closest approximate duration WY # M H B AT Iy e
ofhis Prime Ministership? off?

(A) Twodays (A) @1 fa=

(B) Twoweeks § (B) a1 &

(C) Twomonths . (C) = #éM

(D) Two years (D) =1 &
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Q33

Q34

LM-A

Name the celebrated physician in the court
of King Bimbisara who was the personal
physician of Lord Buddha himself,

(A) Ajathashatru

(B) Sariputta

(C) Jivaka

(D) Rahula

Which of these statements is TRUE with

régard to the poem ‘Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) Itwas Tagore's first ever poem.

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayer at
Shantiniketan.

India’s S-year plan system was adopted
from Russia. Name the Russian leader who
firstimplemented the 5-year plan approach
in Russia.

(A) Viadimir Lenin

(B) Joseph Stalin

(C) Leond Brezhnev

(D) Nikita Khrushchev

Q33

034

Q35

o fdffER @ gvar 4 9w ufhg
fafoas &1 @ am & & waE 95 @
fait fofdeas a7

(A) @Iy

(B) &mRgEr

(C) viEs

(D) wEen

wigAr 20 g ferd) od wmhar e

AR afer & Hay § Perfofeg 4 9

@ | By wh &7

(A) T8 2% A geel wfaay 9

(B) g9 Hfar & a2 § areey A 3T
LT & H9 8§ 3= |

(C) 39 Ffam & oy 2R & e
g fRar )

(D) g% wfaen Niafyda # v we
wef=r ot

e & ga afta de yoreh 1 v a 2
SIYTTET AT AT | I W) A6 @7 F4r A
& foret ugelt aw & o ya adfy gyeen
& gt & arp i ur?

(A) wnfedr af=

(B) <% weifer

(C) e dvra

D) Ffdar g
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Q36

Q37

Q38

Q39

Near which European capital would you find
the Palace of Versailles?

(A) London

(B) Paris

(C) Rome

(D) Brussels

The two famous universities of Oxford and
Cambridge are located in which country?
(A) France

(B) United States of America

(C) United Kingdom

(D) ltaly

How many total biosphere reserves are there
in India?
(A) 10
(B) 12
(C) 18
(D) 25

The Dandeli Wildlife Sanctuary is located in

* which Indian state?

(A) Kerala
(B) TamilNadu

(C) Telangana
(D) Kamataka

LM-A
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Q36 awfa @ wea Prefofea d ¥ fow

Q37

Q38

Q39

R T & e e #2
(A) e
(B) af¥®
(C) ¥
(D) w¥e

strawid o Bfgw e o whg
favaferey Prefafaa fa 2w % Rug
g

(A) W

(B) wgFm wou IR

(C) Fhges fren

(D) g

TR A @ fead weltm dansa
(arariy fad) &2

(A) 10

(B) 12

(© 18

D) 25

gigell aadfla apRIRv YWRE @ faw
g ¥ fea &7

(A) &

B) afe g

(C) T

(D) Tte®
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40  Inwhich of these hill stations would you find Q40 fr=ifefRen # 9 frw e ®em av gt

the Cheeyapara Waterfalls, Pothamedu YAURT ST, WPy wEge SN AEEE
View point and Attukad Waterfalls? e fe?
(A) Munnar (A) TR
(B) Ooty (B) Sl
(C) Kodaikanal . () TdrTE
(D) Yercaud % (D) TTIs
Q41 Thecity of Venice, criss-crossed bycanals Q41 v wBY ot =16l afiv gal & ¥ &,
and bridges, is located in which country? Prerferfiaa f5a 2w 3 Rea 87
(A) Denmark (A) T
(B) Scotland (B) wfedts
(C) France (C) wiw
@) haly (D) Fe=

Q42 Mount Etna, considered to be the most Q42 Wide vew, Rt v @1 waw wfba

active volcano of Europe, is located in: e W o 8, ag Frefata |
(A) Portugal ¥ fra du 9 Rem 87,
(B) Spain (A) T
(C) Greece (B) ¥
(D) haly (C) M=
(D) weel
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Ponmudi is a small hill station in South India.
It is located near which of these cities?

(A) Kozhikode

(B) Madurai

(C) Thiruvananthapuram

(D) Mangluru

Q43

Name the city that is the capital of Western
Australia.

(A) Darwin

®) Perth

(C) Brisbane

(D) Hobart

Q45  Article 161 of the Indian Constitution confers
pardoning powers and commutation of
sentence powers on:

(A) The President of India

(B) The Prime Minister of India

(C) The governors of various states

(D) The ChiefJustice of India

Articles 5 to 11 of the Indian Constitution
deal with which of these aspects?

(A) Citizenship of India

(B) Languages in India

(C) Boundaries of Indian states

(D) Education for children

Q46

LM-A

19 ¥

Q43 oSS, < wva w1 e ol W R
YF 81 a8 5w wer & g fee 22
(A) B
(B) 75
(C) frearfagw
(D) FTEe

freifafaa 4 @ &9 W wew o=
aifegforar & wromrE &7

(A) =Ifd=

(B) =

(C) fawm

(D) gare

£

EVBDLGr )

RAG AR @ T 161 B FER
frefaftra @ 9@ 58 won e &= @
Wl H B-U e @ ufde urer &7
(A) ¥Ra & gl

(B) ARG & WerTw=i

(C) fafy=1 wroal & woaure -

(D) ¥va & HEa IR

Q45

Ay wWRum @ agwe s¥ 1
Frefafea 4 9 e veq & wafta &2
(A) wwa & TR

(B) e # ward

(C) Wi vt @ <

(D) 7=t & fore fen

Q46
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Q47 Asof April 2019, who is the Governor of

Q48

Q49

Q50

the state of Maharashtra?
(A) E.5.L.Narasimhan

(B) CVidyasagar Rao

(C) Palanisamy Sathasivam
(D) Anandiben Patel

What does article 300A of the Indian

Constitution aim 1o guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
marital rights.

(C) No person shall be deprived of his
property.

(D) No person shall be deprived of his
privacy.

Anrticles 324-329 of the Indian Constitution
deal with which of these aspects?

(A) Elections

(B) Minorities' protection

(C) Panchayats

(D) Powersofagovernor

Currently, what is the highest percentage slab
for the new tax regime called Goods and
Services Tax (GST)?

(A) 18%

(B) 25%

(C) 28%

(D) 32%

LM-A
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Q47

049

Q50

i 2019 0% SUSEH TSI F FTAN
HERT Vol &1 TogdTel S 87

(A) BUHUA. ARRET

(B) #H famrr wa

(C) uaTrarl HafdEd

(D) 3 v

R W B e 300A Fefafa

i ¥ fwad TR e 87

(A) ®¢ W afdm aoh e | o
E TR

®) = N @i| I dafke afes
W dftre 181 @)

(€) = N afdm swh wufe | o
8 T8 |

D) ®d N wfE ameh fomr (wmgasd)
¥ dfe 8 @

ARy wWhRam &1 oagwE 324-329
fferftan # @ fva wee @ wafta 87
(A) g1

(B) TGB! B JVET

(C) g

(D) & Iouura it widerd

e A, g T N (TR U
[T 29 (GST)) 9@ 7§ Y araveln
# oy geaaw wftwe i e 87
(A) 18%

(B) 25%

(C) 28%

D) 32%
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Q51

Q52

Q53

Bezwada Wilson is a social activist who was
awarded the Ramon Magsaysay Award in
2016. What is his sphere of social activity?
(A) Eradication of child labour

(B) Eradication of female infanticide

(C) Emdication of manual scavenging

(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic
cruise missile called Brah Mos?

(A) France

(B) China

(C) Japan

(D) Russia

Prime Minister Narendra Modi addresses
the nation through his radio broadcast called
‘Mann ki Baat’. When did this program get
aired for the first time?

(A) October 2014

(B) October 2015

(C) October 2016

(D) October 2017

LM-A
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Q51 dwarel fewd uw wmfore sriEal §

Q352

Q53

o1 2016 7 W H A9 qEER 9 wRAG

fpar o7 @ Freefefas 4 9 6w

& # araett s oAk s 87

(A) AT #¥ H T

(B) =T T & BT IHA

(C) #gare whdfuin (grr & fawan gan
HETE H) B I

(D) aret faame & I

BmhMusWWﬁEm
! R wva & oy e e 20 @
wer ferat W o @1 87

(A) WIH

(B) =

(C)

(D) &

WAl e A US e v &
e | W B Hafow w8 e
# @ Fer Al 8| 98 HEH uEeA
a Fa wERd g’

(A) JraRjar 2014

(B) SraEw2015 .

(C) ARTET2016

(D) SrewqER 2017
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Q54

Q55

Q56

Q57

LM-A

United States is the country with the world’s
largest GDP. Which country comes second
in the global GDP ranking?

(A) Japan

(B) Germany

(C) China

(D) India

Abdelaziz Bouteflika, the President of
has resigned in April 2019 bowing
to public pressure.

(A) Sudan

(B) Libya

(C) Chad

(D) Algeria

Name the new CEO of the International
Cricket Council (ICC) after the Cricket
World Cup 2019,

(A) Sunil Gavaskar

(B) Sharad Pawar

(C) Manu Sawhney

(D) RahulJohri

Name the ex-CEO and MD of Ashok
Leyland who took overas the CEO of Royal
Enfield.

(A) Vinod K. Dasari

(B) Dheeraj Hinduja

(C) Rajeev Dubey

(D) GV.Prasad

15010643

"22

Q54

Q55

Q56

Q57

WgF o aRE gfvan @ wae aw
GDP (w&a 2t 9eR) aren 29 8| 9919
a1 3w 3fas GDP ¥ A gl W W
T 87
(A) M=
B) v
(€) ¥
(D) #rE

&SR 3@ sl qeefiae
A Fid 20197 wFn @ Za@ @ A
gH Y g @ faa i)

(A) &H

(B) ifaan

(C) 918

(D) srcsifear

frde R &1 2019 @ @ iy
e ofeg (ICC) @ -y Hrdat & s
Fuigq | ;

(A) Tl TEwy

(B) INT waw

(C) 77 W

(D) B wiEd

e et @ gt Widah afe ol &
wn M & el Faw vadies @ fidal
3 w9 # Frdww waren 87

(A) fee & zard

@) et fegen

(C) Wil 33

(D) S g
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Q58

Q59

Q60

Q61

Name the cricket team that is number 2 in
international test ranking, as per ICC, as of
March 2019

(A) New Zealand

(B) SouthAfrica

(C) Australia

(D) England

Who was chosen as the captain of the Delhi
Capitals team for [PL 2019 season?

(A) Virendra Sehwag

(B) Ravichandran Ashwin

(C) Shreyas lyer

(D) Shikhar Dhawan

In which state has the National Cancer
Institute (NCI) been set up in early 20187
(A) Rajasthan

(B) Punjab

(C) Haryana

(D) Himachal Pradesh

Which is the leading areca nut producing
state in India?

(A) Kerala

(B) WestBengal

(C) Manipur

(D) Karnataka

Taa3(HL3
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Q58

Q59

Q61

#rd 2019 T@ USR] A & ITAR,
IEAR ity v ¥ A dav 2w
A arelt fvde dm @1 9m w= &7
(A) icts

(B) wféor anpiar

(C) sitegforan

(D) ¥t

IPL 2019 #ilv[ & forw Reh dftea &
T & wU H &9 g T &

(A) drg |Eam

(B) a=w= af¥as

(C) #uw 3y

(D) Rraw e

2018 @t goana A fw wsg H iy
@HY H®IF (National Cancer Institute
(NCI)) wenfie fsar Tar 87

(A) ORI

(B) wog

(C) sRmmm

(D) fRwraa wew

R 3 W G Searees ol Frefor
# ¥ 39 ur

(A) Y

(B) 9l Fme

(C) mforgR
(D) Tl
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Q62

Q63

Q64

LM-A

Name the 70-year-old lady from Odisha who
was awarded the Padmashri award for her
work of preserving of hundreds of types of
paddy seeds throughout her life.

(A) S.Thimmakka

(B) Kamala Pujari

(C) Harika Dronavalli

(D) Muktaben Pankajkumar Dagli

The first areca nut to get the Geographic
Indications (GI) tag is the Sirsi Supari. In
which state is this supari grown?

(A) Karnataka

(B) Bihar

(C) Andhra Pradesh

(D) Odisha

In which town of Uttar Pradesh would one
find the 11 storied Pagal Baba Temple?
(A) Vrindavan

(B) Varanasi

(C) Samath

(D) Chitrakoot
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Q62

Q63

Q64

e @ ww 70 afiq Afken @1 a7 TM
# o oftam w del upr & um St
@ wRE @ Bl B fow gEish qweR @
T far Tar

(A) T4 feprgmr

(B) @Ha gurrd

(C) efe Fomaee

(D) FATTET HehwragaR @)

el it veelt e e & R difaa
Hedad (GI) &7 wr gan &1 a8 qurd
fora oo W S w22

(A) Friles

(B) Rer

(C) 3T wasr

(D) 3nfgem

SR Wo¥ & e wew 4 11 e unre
amar wfew faem?

(A) F=mE

(B) armri

(C) W™

D) fo=ae
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Q65

Q66

The tomb of which of these ancient emperors
is located in the Sasaram town of Bihar
state?

(A) Bahadur Shah Jafar

(B) Alauddin Khilji

(C) SherShah Suri

(D) Qutbud-Din Aibak

The area called Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh— Bihar Border

(B) Uttar Pradesh—Madhya Pradesh
Border

(C) Uttar Pradesh — Nepal Border

(D) Uttar Pradesh— Uttarakhand Border

Computer tools such as Word, Excel and
Power Point are products owned by which
of these companies?

(A) Intel

(B) Apple

(C) Microsoft

(D) Google

LM-A
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Q65 faER wou & raRm ey 4 Pefafag

Q66

Q67

ferer sl wmie @1 ey Rug 22
(A) FEIGY AE Y

(B) sremaE Ragroh

(C) ¥ame ¥

(D) FHHI-T-4 o

deawe s & Frafafag fea dm
@ afertfa e 87

(A) TR w29 — fAgw Fmr

(B) 9T =9 — Wey ya9 WAr

(C) TR WS — Ui W

(D) JTR UKW — ITNIRATS Wil

HUCY B Tow oY & Word, Excel afiw
Power Point R=ifeiftae # & 5w w0t &
wrede #?

(A) Intel

(B) Apple

(C) Microsoft

D) Google

SERIES-A-C




Q68

Q69

Q70

Timothy Donald Cook, popularly known as
Tim Cook, is the Chief Executive Officer
(CEO) of which of these companies?

({A) Google

(B) Thwitter

(C) Amazon

(D) Apple

In the context of Microsoft Word, there isa

!'gal_l.lm called *Gutter Margin’. What is this

feature used for?

(A) Improve the clarity of graphics and
images

(B) Give provision for better document
binding

(C) Improve the clarity of the printed text

(D) Facilitate the insertion of page numbers

Which of these districts of the state of Uttar
Pradesh does NOT share its border with
Nepal?

(A) Pilibhit

(B) Shravasti

(C) Sitapur

(D) Maharajganj

LM-A
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Q68

Q69

Q70

ol SFres o®, e fov o@ & M
A W wen g ol 4 6 e
#ofl & Awg sRESN At
(Chief Executive Officer (CEO)) &

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

Microsoft Word @& wigd o e mfsir

qmE BreR &1 Frefatea d 9 e

fere Sz o wmar &2 |

(A) it afie Rt ot e 3 gur
Eagic ATy

(B) dec Sfegie aEfET & weew &
ferg

(C) fite T & wWdl ¥ YuR &3
% ferg

(D) I weEAmRl & S 6 giwr ver
& @ ferg

IO TR S F1 B A1 forer Ao &
R 7O AT A AR Al 87
(A) YTeiriE

B) #mawi

(C) WrmgR

(D) WEWTOTI
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Q71

s Qn

Q7

Which of these districts of Uttar Pradesh lies
on the UP-Bihar border?

(A) Basti

(B) Bulandshahr

(C) Banda

(D) Ballia

Name the national leader who undertook a
marathon walk called ‘padayatra’ from
Kanyakumari to Rajghat in Delhi in 1983.
The intent of the yatra was to renew mpport
with the Indian masses.

(A) Chandrashekhar

(B) LK Advani

(C) Ram Vilas Paswan

(D) V.P.Singh

Name the Indian Prime Minister who
announced in the parliament that he would
implement the Mandal Commission’s
recommendations. This declaration triggered
nation-wide protests in India.

(A) RajivGandhi

(B) V.P.Singh

(C) Chowdhary Charan Singh

(D) Chandrashekhar
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Q71

Q72

Q73

U wew &1 @ 1 e gw vdy Al
fUEr & ¥ @ R &7

(A) T&R

(B) geicwmey

(C) afar

(D) aferan

aE | L Ao # Rt ad 1083
# B den Rl 3 uoae
& TEaEr A e g dww oy
# A7 g0 A B St R S
@ wr Hay @) Tl s arn)
(A) wT=eER

(B) eireigmr arsar

(C) wwfaams grgarm

(D) Harfm

T ARG yErTE @ wn @ el
e A g8 Ao @ o) 5 g Had
s #t RreRet @ anp s97 3w
HiYu @ e i dwend Ay gw 8
T |

(A}mﬁﬂﬁlfﬂ!h

®) @ Rig

(C) herd =vvr g

(D) T=dER
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Q74

Q75

Which city in Uttar Pradesh is called ‘suhaag
nagar” because it is famous for making glass
bangles?

(A) Firozabad

(B) Gorakhpur

(C) Varanasi

(D) Bareilly

Who among these following leaders is also
the head priest of the Gorakhnath Temple and
Math?

(A) Uma Bharati

(B) YogiAdityanath

(C) SriSri Ravi Shankar

(D) Mahant Paramhans Das

LM-A
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Q75

14TI0840

IR weN & Fw R @ e Ay
g1 T §, 4B ey wiE B i e
& fag wfeg &

(A) e

(B) "R

(C) Aot

(D) et

frmferfaa sl # @ @9 9 S M
afEw afR we & @ gord oA 7

(A) Fa1 el

(B) arht anfemrm

(C) 50 AN Q wHH

(D) AET UIHEH T
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Q76

Q17

Q78

Q79

Q80

SECTION-3| GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

Plaster of Paris is a product of;
(A) magnesium

(B) ahmminium

(C) calcium

(D) sodium

Which of the following statements is TRUE

about natural rubber?

(A) Itisa natural polymer and possesses
¢lastic properties.

(B) Itisanartificial polymer and possesses
elastic properties.

(C) Itis not a polymer but possesses elastic
properties.

(D) It is a natural polymer but does not
possess elastic properties.

Which of the following is a form of calcium
carbonate?

(A) Washingsoda

(B) Bakingsoda

(C) Limestone

(D) Table Sal

Dietary intake of is essential for
the normal functioning of thyroid gland.
(A) sodium

(B) calcium

(C) iodine

(D) potassium

Which microorganism is Penicillin obtained
from?

(A) Amoeba

(B) Virus

(C) Protozoa

(D) Fungi

LM-A
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Q76

Q77

Q78

Q79

QB0

ey ot ufvn Frefefa A4 @ e
U&H I 87

(A) Fr=hferm

(B) vegmfam

(C) Hfegmam

(D) wfEmm

wpfeE vav & a A Frafafaa # @

W | e Wl 8P

(A) TE U Wigfos Tgas & ol g
AEER 9 B 2 |

(B) @F U& Hfa 4gas # R gad
drEar v g &

(C) 48 U ages 8 8 o gwid
e U 8§ |

(D) 7% & Vfas agas & afte s
draar o T8 B &)

frafafeg 4 @ o9 & dfeeas aEte
1 3 w9 &7

(A) @i war

(B) afdw wrer

(C) TA-Teer

(D) 2 Hiee ()

yae, (umadias) ufer &\ wrET
@ foro amew 4 Py=fafaa 4 9 fram
dae B TED 87

(A) wifEam

(B) Hfeeram

(C) =EEH

(D) drefimam

afafferm e gercha @ wra g 87
(A) 3

(B)
(C) srersian
(D) ®a®
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Q82

Q83

Q84

Q85

LM-A

Which of the following diseases is caused
by the deficiency of vitamin A?

(A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagra

Which of the following diseases is caused
by the deficiency of vitamin B| (thiamin)?
(A) Rickets

(B) Beriberi

(C) Nightblindness

(D) Pellagra

Which among the following is a vitamin
deficiency disease in which dark red patches
occur on face, neck, hands, calves and feet?
(A) Pellagra
(B) Thyroid
(C) Anemia
(D) Keshan

Blood enters the kidney through the:
(A) renalartery

(B) externaliliac artery

(C) axillary artery

(D) ulnarartery

Which among the following organs secretes
bile juice? i

(A) Heart

(B) Brin

(C) Kidney

(D) Liver

3o

Q8l

82

WL

Q83

Q84

Q85

faeifm A i | Peafafaa v am
w1 < g 87

(A) Raew

(B) el

(C) i

(D) e

faerfim B1 (Rranfas) & &0 #
frfafam 3 & @9 W 99 gar 87
(A) Rdew
B) FHad
(C) welfelt
(D) t&mn

Fr=fefas 3 9§ &9 ve Refa & a0
& BRI arer 3 & o 28y, mde,
&1 3 U W e e 1 @ 99 uE
W &7

(A) T&mn

(B) emuias

(©) weifar

(D) H¥H

et ayufer o & vaa Frafefaa 4 @
farer sz & waw @ 7

(A) T Al

B) el gfoas gl

(C) wefla (ufaererdl) ened)

(D) 3w waiftas (arew) el

ferferfeae st 4 | 9 W s fier o
W1 WTa e 87

(A) &1

(B) witss

(C) &

(D) T
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Q86 Which among the following diseases is very
rare in women as compared 1o its occurrence
inmen?

(A) Myopia

(B) Kidney stone
(C) Braintumor

(D) Colourblindness

Q87 Haemoglobin is the protein inside red blood

cells that carries:

i (A) oxygen

(B) carbondioxide
(C) nitrogen

(D) ozone

Q88 Which ofthe following is equal to
8.13 x 107

(A) 831000

(B) 8310000

(C) 813000

(D) 8130000

Q89 When 0.353535... is converted into a

fraction, then the result is:

(A)
‘ (B)
(€)

(D)

gl- sl g|w ¢z

LM-A

f
£
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Q86

Q87

QB8

Q89

Prerfafaa % & o W 9 qodl @
qor i wfeensit d aga @ B 47
(A) Fraegfe Im (Arfan)

(B) &= # werd

(C) ¥ TR

(D) Foeren (deR @ndsw)

BT @ v Sl @ e
& UF W & o aw Frefafee |
forareT a8 Fvan 87

(A) 3T

(B) ®rd= srgaifavgs

(C) g

(D) 3Tl

Frfefiaa 4 @ @ o Awe
8.13 x 10° & awmaw &7

(A) 831000

(B) 8310000

(C) 813000

(D) 8130000

w9 0.353535... & =1 & aaen oo 8,
a1 uRomm @@ g
35
99
35
100
15
19
1

——

99

(A)

(B)

©

D)
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Q90 What is the HCF of 27x3’x 5% 7, Q90 22xPx5x7, 2x3x5xTalR

2x3x 5T and 22 3x 57 ? %35 x T H AETH THNEN S
(A) 210 (HCF) 91t @¥7?
B) 420 (A) 210
(C) 1005 (B) 420
(D) 1050 (C) 1005
(D) 1050
Q91 Solvethe following, Q91 f=iferitad & &a Y|
Ji_?.,iz? Jﬁ_lz?
81 9 81 9 & |
4 4 |
A 3 ® 3 3
3 3
®) 3 ® 3
| 1
4 Iy - © 3
9 . 9
2 2
® 3 I ol

Q92 Anumberisasmuch greaterthan S5asitis Q92 U® W, 559 worll & a4 & R

lesser than 79. The number is: T8 799 B8 ]| wea sma ¥
(A) 59 (A) 59
(B) 63 (B) 63
(C) 65 (C) 65
(D) 67 (D) 67
Q93 Thesum ofthree consecutivenumbersis96. Q93 R 7 wamat &1 4 96 &1 &
The greatest among these three numbers is: o HERt # gad 4 wWen @ @
(A) 28 #
(B) 31 (A) 28 l
(C) 33 (B) 31
(D) 43 (€ 33 4
(D) 43 +

LM-A i2 SERIES-A-C



094

Q95

Q96

Q97

Which of the options will come in place of
the question mark (?) in the following
equation?
128 +16x3-7x2
7-6x6-3
(A) 16
(B) 49
(C) 60
(D) 128

1000 boys and 600 girls are examined in a
test. 43% of the boys and 35% of the girls
passed. The percentage of the number of
candidates who failed is:

(A) 40%

(B) 50%

(C) 58%

D 600

A finishes a work in 9 days and B finishes
the same work in 18 days. In how many days
will they together finish the same work?
{A) Idays

(B) 6days

(C) 8days

(D) 9days

How many minutes will Preethi take to cover
adistance of 500 m, if she runs at a speed of
30 km/hr?
{A) |min
(BY 2min
(C) Smin
(D) 6min

LM-A

FINEA

143

33

094

Q95

Qo6

Q97

Fefaftae wftar & wefae (7) @
W uv Fr=ferfias 1 & @9 a1 s
murn?

128 +16x3-7x2

7-6x6-3
(A) 16
(B) 49
(C) 60
(D) 128

e oden A 1000 S5 3l 600 Ffar
B qlen N ah &) I 4 | 43%
s wsfdal 4 9 3% ga B1a &1 o
B ard urEt @ a5 ufae

R

(A) 40%

(B) 50%

(C) 58%

(D) 60%

A fft @ @ 9 fam 3 g @ @ afw
B ¥ ®m 31 18R\ # g awven £ 2
a1 T e o ot T 3 s e
# g &6

(A) 3fas

(B) 6

(C) 8fa

(D) 9f&=

4f MR 30 kevhe @1 1fe & <Shaelt 8,
8 500 m B g B TG FA H Ao
"y

(A} 1 min

(B) 2min

(C) Smin

(D) 6min
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098

Q99

Q100

Q101

LM-A

Which of the following cars with speed given
below is the fastest?

(A) 90km/hr

(B) 25 m/sec

(C) 1500 m/min

(D) 100 km/hr

A solid right circular cylinder has a radius of
21 ecm and height of 16 cm. What is its
curved surface area?

(A) 2000 cm’

(B) 2002 cm’

(C) 2010cm?

(D) 2112em?

I'wo pipes A and B can fill atank in 16 hours
and 48 hours respectively. If both the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10hours

(B) 12 hours

(C) 15hours

(D) 16hours

At present, the ratio between the ages of
Vimal and Vinay is 4 : 5. After 6 years,
Vimal's age will be 26 years. What is Vinay's
age at present?

(A) 20 years

(B) 21 years

(C) 25 years

(D) 30 years

368

15193

34

Q98

Q99

Q100

Q101

Ay &1 od wify areh Fesfelftae Raea 9
H FF W BN w9 o 27

(A) 20km/hr

(B) 25 m/sec

(C) 1500 m/min

(DY 100 km/'hr

uE o od gy F99 @ B 21 em
atw Fed 16om B | 59 T T (curved
surface) BB B T T |

(A) 2000cm’

(B) 2002 cm’

(C) 2010em?

(D) 2112em?

A 3 B 21 yizy fsl & o 16 U alie
48 T2, wue W W wFa B afk gl
UiEY UE we @i [{y S a1 6w
o W e wwa e

(A) 10 ®2

(B) 12%2

(C) 1562

(D) 16 2

mE e sl fam @ g @
o 4: 58| 6 arg e @ Ay
26 7 w1 o | abe A Rea @ sy
I 87

(A) 20a%

(B) 2134

(C) 25ad

(D) 30ad
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Q102 An accurate clock shows 9 o’clock in the
moming. Through how many degrees would
the hour hand have rotated when the clock
shows 3 o’clock in the afternoon?

(A) 150°

(B) 155°

(C)y 175°

(D) 180°
Q103 Ifastraight line intersects the sides AB and
AC ofa AABC at D and E respectively

; AE
and is parallel to BC, then AC =7

AD
AD
DB
AD
AB
DE
BC

(A)

(B)

(€)

(D)

Q104 A system of two linear equations in two
variables is inconsistent if their graphs:

(A) cutthe x axis

(B) cuttheyaxis

(C) coincide

(1) donot intersect at any point

Q05 If 0 =45° then cos® D +sec? B =7
(A) 0
(B) 1
(C) 2
(D) 2.5

LM-A

15

Q102 & W% uS gae 9 99 o w9 faarh
81 v u& Susx & 3 7 R & o
e ® g3 fbos Bl w gfi?
(A) 150°
(B) 155°
(C) 175°
(D) 180°

Q103 aft & Brfs A ABC &) o AB sfiv
AC &1, ®1 ¥ Y@ Dl E W w9
#iedl 8 3R 78 BC & wwrniow & @
22 o
AC

AD

EC

AD

DB

AD

AB

DE

BC

(A)

(B)

Q104 =) ¥elirg Wit 91 UF et F 81 v
T & gt 999 U
(A) x 3 HIE
(B) y u&r oie
(C) 3% B (coincide)
(D) faelh ot fifg v wferedde =1 &d

Q105 af% 0 =45° &, T cos* O +sec? O =7
A) 0
B) 1
(C) 2
D) 2.5
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Q106

0107

Q108

Q109

Q110

Ifthe system 6x -2y =3, kx-y=2hasa
unique solution, then:

{A) £k #3

(B) k=3

(C) k=4

(D) k=4

The square of any number is divided by 4,
then the remainder is:

(A) 1

(B) 0

(C) eitherlorD

(D) neither | nor(

While resolving 1500 into two factors, the
possible number of ways 1s:

(A) 12

(B) 18

(C) 36

(D) 24

The ratio of Amit’s age and Anu’s age, nine
vearsagowas 5 : 7. Then 5 years from now,
which of the following CANNOT be the
ratio of their ages?

(A) 13:19

(B) 11:13

(C) 15:16

(D) 21:25

Each of the interior angles of a eyelic polygon
with ‘n’ sides measures 144°, Then, the
measure of the angle subtended by each of
its side at the geometric centre of the polygon
(S

(A)
(B)
(&)
(D)

LM-A

36

Q106 afe worelt 6x -2y =3, kx -y =

AT (gPe) g ¢ A
(A) k #3
B) k=3
(C) k =4
(D) k=4

Q107 frell N wem & @i & 4 4 fenfom

g W= e 9w aem 87
(A) 1

(B) 0

(C) alam o

(D) A3 = Ho

Q108 1500 & =Y 7vr= W3 ¥ e ¥ adal

A frfom e o waon 87
(A) 12
(B) 18
(C) 36
(D) 24

Q109 #t ad uga, s aflw o] & amg &

184 TA36R

FIE S: 7 @ M A S ad ag,
Frefafaa 4 @ &= W o9 ag @&
Iara € & waa #7

(A) 13:19

(B) 11:13

(C) 15:16

(D) 21:25

Q110 *n’' Yoraii arel U whla agy (arglies

gieir) & wels arofs s @ Ay
144° & o, agqe @ sl @ w
TG U Ol GRI &0 7Y S0 6
ma e gm?

(A) 30°

(B) 144°

(C) 54°

(D) 36°
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Q111

Q112

QI3

Q114

sin’ @ -3sin¢+ 2

cos" @

=1, then & can be:

(A) 45°
(B) 60°
(C) 30°
(D) 0°

Club A had won 30% of the first 60 matches
it had played in a particular season. Then
the minimum possible number of additional
matches the Club A should play to achieve a
success rate of 44% in that season is:

(A) 15

B) 20

(C) 30

(D) 25

What was the name of the mission, an anti-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram

(B) Mission Shakti

(C) Mission Vikram

(D) Mission Sahas

What is the application of the GSAT-31
satellite launched by India on 6 February
2019?

{A) Earth observation

(B) Navigation

(C) Climateand Environment

(D) Communication

LM-A

FEEE Ly

7

QI

Q112

Q113

Q114

afe $in"0-3sin@+2 _
cos’ B

ey B

(A) 45°

(B} 60°

{C) 30°

Dy 0°

1 & a1 0 e

Fd AF U3 Wed | @ U 98d 60
gl A A 30% 9 o &) o ada A @
I WA A 44% B Feam &v B
o @ fow R sfRen =pam #a
e wfge?

(A) 15

(B) 20

(C) 30

(D) 2§

DRDO gRr 27 #rd 2019 @1 @1 v
g waAm g gege gftey W,
THAadS (A-dease Mga gdey
fasar wan en, g6 My= @& W @ ar
(A) T goeew
(B) fwm afaw
(C) Py fam
(D) fe= wmew

6 Bead! 2019 W AR g diFa fse g
GSAT-3| 9uug & F=iafan 4 9 a9
HT awan &7

(A) gedl &1 HaeTET

(B) a¥y Wl

(C) oreraryg afv arraw

(D) ¥HUR
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Q115

Q116

Q117

Q118

Q119

LM-A

Name the nuclear-capable surface-to-
surface intercontinental ballistic missile
developed by the Defence Research and
Development Organisation (DRDO).

(A) Prithvilll

(B) Trishul

(C) Agni$

(D) Barak-8

Which of the following is a part of the
process involved in water cycle?

(A) Evaporation

(B) Sublimation

(C) Freezing

(D) Meking

Deficiency of which mineral causes anaemia?
(A) Magnesium

(B) Iron

(C) Zinc

(D) Lead

Which of the following is a commonly used
chemical method for punfying water?

(A) Hibemation

(B) Excavation

(C) Chlorination

(D) Denitrificats

Which of the following is the source of
freshwater?

(A) Ocean

(B) Sea

(C) Brine

(D) River

38

Q115 =& rgaur 3 R w@re+ (DRDO)
BIRT 678 | ety oy AR geo-wem
siTe—wEg i Afcfes Maga &  m
7 2?7
(A) g=t

B) FeE
(C) aft 5

(D) av1a-8

BES

0116 Prafaf § | @9 & s wa o
s wfsa &1 va = 87

(A) TrsfiE

(B) SEdyTa®

(C) feriienvor

D) e

'

Q117 Fr=fafea § 9 va @S (mineral) #
HA | i g 87
(A) #iferaw
(B) e
(C) e
(D) Hr

QI8 wFl & P& T & foy IR W
gwiAra fan o aren e ade
Freferfaa § @ @ wr 87
(A) faffsam (Frgev-eE)

(B) Io@1 (qawsaer)
(C) =i
(D) IFELIHN

Q119 fr=fafaa 3§ § o9 98 o 1w
et did R
(A) HETHITY
(B) WrR
(C) &1 gl
(D) =4
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vitamin A7

(A) Fishoil
(B) Sugar

(C) Banana
(D) Coconut oil

Q121 Sound CANNOT travel through:
(A) Gas
(B) Vacuum

(€) Liquid
(D) Metal

Q122 Which form of energy causes a matchstick
to ignite into a bright flame when the

| matchstick is struck against the match box

surface?

(A) Potential energy

(B) Kinetic energy

(C) Chemical energy

(D) Wind energy

. Q123 CGS system of measurement units stands for:
(A) Coulomb, Gauss, Steradian

(B) Celsius, Grade, Second

(C) Centiliter, Gallon, Siemens

(D) Centimetre, Gram, Second

Q124 In Electronic Communication Systems, noise

p refers to:

(A) unwanted signals that tend to disturb
~ the transmission and processing of
message signals
loud music harming the eardrums
sensation of hearing that is not audible
unwanted sensations that disturb

messages

(B)
(©)
(D)

LM-A

Q120 Which of the following is a good source of

Q120 Fr=ferftae % % @\ w Rafie A @1 ve
areeT W &7
(A) ol &1 ad
(B) 4+
(C) e
(D) e &1 da

Q121 @fy Fr=afafe § & fsw smam & g
T8 @ v 87
(A) 1%
(B) faia
(C) =3

(D) g

EGLEL

BOE

Q122 wifewm & faah & wos 4 oa wftw A
e o 8, O Sl & @ W sy
T& awatell ot # yoafera 89 &1 s
TaT 87
(A) Refer wat
®) nfirar sl
(C) wrwrafys &l
(D) @y ot

Q123 w9 g1gal @ CGS woren 91 FAiferflaa
# 9 @ uftam &7
(A) T, Tife, wfEay
(B) wfewaw, ¥e, d9s
(C) wfefaes, fam, ¥l
(D) #&ieR, am, S5

Q124 soaifFe waw wonfert i win Frferfe

H 9 f9 wefife awar 27

(A) sraiftser Ryrren & w3 Rren @
waRer v wHwEsTor A A e &

(B) @1 & J@Har YA arenl a
wifra

(C) & ey = & g A il #

(D) araifise w@ae=g o wawl § awn
e #
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Q125 Which of the following is TRUE about the

LM-A

process of evapomtion?

(A)
(B)

(D)

Itdoes not depend upon humidity level.
It increases with increase in surface
area.

It decreases with increase in wind
speed.

It decreases with increase in

lemperature

40

Q125 Fmfreye &) uimar @ N 4 FHEfaiaa
dH @ wEl 87

(A)
(B)

(C) 4%

(D)

e 9 @ e e iy =3 & B
ag Wag @ & o g #9 uv agd

[

urrell €1
g awE ¥ gl 819 gv ' G
Bl
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

Q126 ‘ur+ 3 favw v wfYy &1 e 87% Q131 Frefofe & & 2w Reie gm wl

(A) T 1ol @7

(B) Iz (A) WE—apig
() af& (B) WU-—wTEW
(D) [y (C) Ha—9rh

(D} ¥Hr=—-er=g
‘ Q127 vwwan 5w wwre &1 SgE &7

(A) i Q132 - weE-gw 3 fay wH
¢ (B) Tegey - G |
(C) f&m (A) T-TEd
(D) &8 (B) mEd-a=
(C) fd-fFareh
! Q128 ¥ it wita gu afes 1§ (D) e
a5 # Y@ifea sera-wanr Fefaft
H 9w W o gamE 87 Q133 i gfeul & ug= | aww Br-
(A) THTaUd® A @ fov ve e aaEv |
' B) frmfaio (A) ERafdm
(C) wdeanS (B) sfeufus
(D) ReafRass (C) gfeunda

(D) Eruy
Q129 ‘Teird wa fhigh oa S 21 -
arg W aifen s fagmo & v e Q134 'IH WE UFH §ET B o ) R -

& 3ferta mem? Yaifa ga § S |1 gwat 87
| (A) TvETES (A) T
| (B) uftworares (B) aifeysvor
(C) wigdmm (C) wwaErF
(D) \rdfs (D) ITET
QI130 fr=fafaa 4 @ o w1 e Awas &1 Q135 <@ T Br- frar & fom o &
yaigard 87 IR 87
(A) ot (A) Wl giam
(B) v (B) e aca
(C) wfer (C) wfew wa
(D) &% (D) wwr W
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Q136

Q137

Q138

Q139

LM-A

Fu4 a0 ® e afte fear) -

§H O areg @ M gEg $1 WY

frafafea § 4 215 @ 87

(A) Iu wer 5 4 fradly §)

B) v o I 78 Fra wifte g

(C) 3o+ TEl fs 99 Mgy aifta @
Y |

(D) a4 oE 5 & s & B
Hife oY ¥ §

faem fiw @ wamr 9 gfte & Fe=fafaa
# @ B9 W g wh T 87

(A) T8 T 9, 77T [ 9, 30w B
B) g, g, 78 M 8§

(C) =8, =, S et =1t &Y W

A B

et vrger gER @ We wd @
B

(A) it wme s

(B) afRsm e

(C) ¥Ea Ne—4g HE

(D) I B

e WA e g@- deifE @
wf st T B7

(A) e ¥ v o ot o
B) = wrE ¥ B9, A WiEl F g
(C) H¥™a A

(D) W e O T

42

Q140

Q14|

5 Q42
D) P, Wi S N 8, A B gEA -

Q143

PSGI

&) wftey & sfoew @ 5w & &
Ao e W HET Tar 87

(A) anfEm

B) T

(C) =

©) ImfFE T

Preifafa # @ o @ von g
i &7

(A) THERTAAH

@) emaa

(C) pwrfrare

(D) WaRTHTA

&8 w1 wom wHrER 9= A |1 o917
(A) &fd au= g

(B) ©E€a ARivE

(€) sRaux afia

(D) aveEd

&8 A 7= swfy e arh o 32
(A) TR HTHY

(B) argdwrmd armiw

(C) @WH JTHA

(D) ¥R s

Prafafaa oo &1 aegys i
alw it Ry U WAt (we wEr 144 -
146) & ST 4|

Hragam Zmer 77E A Pl i
ofdom &1 Sguifea @wvan & IwW,
weiea s ofds amemor & B 8
fragea Zaen e affm & o
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LM-A

feweny & | ga s o il agdl &
fierar afta waer geg o dor #
e wasR | s g A R
99 v v wWidw o Refit wh
g1 781 Bl | §EE O gaw A
o1 gorr BN 8, foren ol geeen
7 Fva & | Maar @ s due
# I T W St # geeiaa s
2 e _gom uycygef star @
fh ard @ Rmed i dtaa adl
et | arfrerd—aniiree, R fimmd,
vel-ggl anfz wft & fon e
TAEN WA &4 9 aaas # | fowmed
# gt e %1 apna & o 98 I e
& gifoe R W T8 TR A | Meam
frErd @ wHad A aroifawEe A
giE e & 8 el @ o W @
o afaee ¥ el s ol 8 ) gw

e 7 A ol § afted ot |

+

v ey wiafat @ §9, e ¢

afe faenfilt @& fu e awe v
i & drg MR iR wmre e wenfia
B § ol wele ol & srfgweo
g nht &) gw o @ e @ BR-W
-Bier @f¥w 73t B werpfy sl #w
o 8| e g getw iR A A
B 59 7o o aifvfar far o wan 8
niRaRe WrR g6 o7 Y R afw
e & & aga a1 fe
T T 8
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Q144

Q145

Ql46

Q147

Frafefaa % & @ wr s da &

way | o 87

(A) fiagem ager | gae aomEw
o1 i g &

(B) & uw A o &

(©) nRaf® R fia » Asfa
T | wEEel e P #

(D) Wrege aEeR Biel-43f § Wi
1 W AAES B

ey § Yaifsa s A ofte o

B

(A) e wy g1 Rar wman #)

®) B Fd @ Rres w fa wm
wnfie s o &

(C) et fire &1 wpa g & @l B
#rd fames =l aren

(D) ot & faerem & wet e @
e g &)

o d #F W oo g @
frcim #?

(A) i

(B) WIg

(C) g

(D) HrerasT

o w W Uz, SEfad e
I U WM 3R Rt @ don o
B B, T 99 FU1 FE un &2

(A) ®rfeaa smE.

®) e

©) ITEmE
(D) aRr=
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Q148 A Remag &) [HA FINeE O &
guis &vd g0 A & o o o=
Fife & aia menr?
(A) T
(B) ¥el¥mHSY
(C) dafds
(D) =i

Q149 fy=fafaa & 9 o9 @ afew @ae 87
(A) &
(B)
(C) 1

D) €

ol

Q150 fy=fafea # 4 ¥ W W Feae@
27
(A) %
(B) an
(C) 3
(D) ¥©
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Read the following Instructions carefully :

Fr=fafaa Bl &) ens 4 92 -

1. Out of the four altematives for cach question, nly
one circle for the correct answer 15 0 be darkened
completely with Block Ball Point Pen on the OMR
Answer Sheet, The answer once marked is not loble
to be changed

1. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the

Answer Sheel. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklel and Answer Sheet with care,
as under no circumstances (except for diserepancy in

Test Booklet), another set will be provided,

4. The candidates will write the correct Test Booklet
Series as given In the Test Booklet in the Attendance
Sheet.

S Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No-candidate, without special permission of the Center
Superiniendent or Invigilator, should leave his / her
seal.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a condidate has not
signed on the Attendance Sheet will be deemed not 1o
have handed over the Answer Sheet and dealt with as
an unfair means case,

B. Use of Pencil/Electronic/Manunl Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commissian,

10. After Examination is over, candidate has to return his
Answer Sheet 1o invigilator. Invigilator will hand over
the Candidate's copy to candidate, then only
Candidate is only allowed to take Candidate's copy of
answer sheet,

11. Candidates are not nllowed to take Test Bookdet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.
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